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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

Identify the incorrect feature(s) of money supply (M;) from the
following : 1
(1) It is measured at a point of time.

(ii) It does not include stock of money held by the government.

(iii) It is always the currency in the hands of the Central Bank of a

nation.
Alternatives :
(A) () and (ii) (B) (ii) and (iii)
(C)  (il) only (D) (iii) only

Total consumption expenditure by households under Keynesian Economics
is a combination of __ and .
(Choose the correct alternative to fill in the blanks) 1
(A)  Autonomous Consumption, Autonomous Investments
(B)  Autonomous Investments, Induced Consumption
(C) Induced Investments, Autonomous Investments
(D)  Autonomous Consumption, Induced Consumption
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(Teh T &1 A & fofe Tt fashew 1 = 9w Fifse)

T AT T 7 |

3. T« Afhel ol ugaH o 9 Tl faehed 1 =9 HiIfvT
T STHT | T (80%) STRIET 91T
(20%)
I 5000 4000 (D).
II 4000 (). 800
DA | ..(Hid).. .(iv).. 5000
foshed -
(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
4. YW dqad (BOP) | 1Ry &1 arcd
(A) A Wit W &R JaH
(B) T WIadl T =Te] @Il YT
(C) STt @rar YA R YSi @rar e
(D) T YTAHE W &R Jiieai
5. Tt shreufen Stdeaeen o fofu o <fifste o6
C =100+ 0-75Y (J&T C =399 9 Y = 31¥)
Iy = 400 (I, = T fiemr)
a9 ek (K) 1 94 g |
(Th T &1 WA & fore o) faesped 1 =am Fifso)
A 5 (B) 4
C) 6 (D) 3
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3. Find the missing figures and choose the correct alternative : 1
Round Deposits Loans (80%) | Reserve Ratio
(20%)
I 5000 4000 ().
II 4000 .(i).. 800
Total .(iii).. .(iv).. 5000
Alternatives :

(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000

4. Surplus in Balance of Payments (BOP) refers to the excess of
(Choose the correct alternative to fill in the blank) 1
(A)  Autonomous payments over Autonomous receipts
(B)  Current Account payments over Autonomous receipts
(C)  Capital Account receipts over Capital Account payments
(D)  Autonomous receipts over Autonomous payments
5. Suppose for a hypothetical economy :
C=100+0-75Y (where C = Consumption and Y = Income)
I, =400 (I = Autonomous Investment)
Value of Investment Multiplier (K) would be .
(Choose the correct alternative to fill in the blank) 1
A 5 (B) 4
C) 6 (D) 3
11-58/1/3 P.T.O.
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(B) e 13T g M FAH 2T 2 |
(C) T 13 2HI TcF 2 |
(D) $YFT 13K 2T FFH B |
8. Ti=faRed # @ w& gfientor &Y v HifvT
(A) GDPyp = NNPpc+ To8H™
(B) NDPFC = NNPFC +5\F&' WHW
(C) GNPMP = GDPMP +ﬁ%{5ﬁﬁwmwmm
(D) NNPpc = NDPyp+ Je8™
9. fTr=afifiga et =i ufeu - s1fiepem (A) 3R &R0 (R) | = fou T foepedt &
ﬁﬂ%ﬁﬁ%‘?ﬂﬁ@
fUFHYT (A) - O TR fRafa @ et sfess stemmd &1 srqufeafa @ 2 |
FRU(R) : Y UoR 1 feufa ®, acft sogo 9 gaw kel o s=foa

TGl & TR TSR STH 2IaT 2 |
forehey
(A) 3R (A) 3 HWOT (R) GHI TT § 3 SR (R), 31fheA (A) i
g SATE 7 |
(B)  3AMHAT (A) 3 ST (R) ST cF &, Wlohd I (R), 3T(HHAT (A) i
TE| AT 737 3 |

(C) IR (A) FF 7, Wlohd R (R) I8 3 |
(D) 3 (A) 3T B, Afehd RO (R) TH 2 |

11-58/1/3




6. Suppose, the Balance of Trade of an imaginary economy shows a
favourable balance of ¥ 500 crore. The values of merchandise exports are
T 1200 crore and transfer payments are ¥ 400 crore.
The value of merchandise imports would be ¥ crore.
(Choose the correct alternative to fill in the blank) 1

(A) 1700
(B) 750
(C) 700
(D) 900
7. Read the following statements carefully : 1

Statement 1 : If in an economy the level of income increases (AY), it will
always proportionately increase the level of consumption
(AC).

Statement 2 : Marginal Propensity to Consume (MPC) and Marginal
Propensity to Save (MPS) are always equal to each other.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

8. Identify the correct equation from the following : 1
(A)  GDPyp = NNPgpc + Depreciation
(B) NDPpc = NNPyc + Net Indirect Taxes
(C) GNPpyp = GDPyp + Net Factor Income from Abroad
(D)  NNPpc = NDPyp + Depreciation

9. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below : 1
Assertion (A) : Full employment situation refers to absence of

involuntary unemployment.
Reason (R):  Under full employment situation, all the willing and able
bodied people get employment at the prevailing wage rate.
Alternatives :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.
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10. “feAm 9 S 2023 %, AYHA Tl WA= (NSE) % AThel o SIJER, Th HIG
i afy a4, 9 75 2023 - 9 S 2023, H et FEATa fHewmhl (FII) g
T 309 HUS HI Ig forsht 1 71E off |7
ST TG YRA o YA Aged b @Id % 9& § g foha

JTa | (Teh T 1 W3 & fou ot fashed =1 =@ hifSe)
(A) =T, sfere (B) USH, shise
(C) =T, shise (D) s, Sfere
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12. (%) TH HeuHs Adegazyr & fou = fou mu ifesi & ar W, @red
AT 9 3G u\{q\scqlq (NDPpc) Hed <pl ATHTE ST

e i (¥ gZ 7)
(i) | Eehal SRel TAR et fAmior 400
(i) | ffa 80
(ifi) | AT TR 39T = 500
(iv) | Torft 9t 1 399 70
(v) | Afw =ie] 3THmT =™ 640
(vi) | HTeTEEl (Inventory) et (Ig) (-) 80
(vii) | AT 90
(viii) | g FATcTE H 60
(ix) |fogsn & 9 g R A= 50
T

(@) (1) 39 3CTEW 6! TEEAT © FRIATSTT hl STGURN HT JUIA HITT |
(i) Y= ™Y I GRATNT HIT |

13. (%) “Torell refouaeen §, YeaTlera Wy SATY(d, JeATRG 99y 611 & At g |7
3UTEH, T g SR o T W 3ok JUTE hl SIRST HIY |
reran
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10. “As per the National Stock Exchange (NSE) data, dated 9th June, 2023,
there was a net selling off worth T 309 crore by Foreign
Institutional Investors (FIIs) over the period of one month i.e.,
oth May, 2023 — 9th June, 2023.”

The above mentioned transactions will be recorded on side of
account of Balance of Payments of India.
(Choose the correct alternative to fill in the blanks) 1

(A)  Debit, Current (B) Credit, Capital

(C)  Credit, Current (D) Debit, Capital

11. Distinguish between fixed exchange rate system and flexible exchange
rate system. 3

12. (a) On the basis of the data given below for an imaginary economy,
estimate the value of Net Domestic Product at Factor Cost

(NDPge) : 3
S. No. Items .Amount
(in < crore)
(1) Gross Domestic Fixed Capital Formation 400
(i) | Exports 80
(i1i)) | Government Final Consumption 500
Expenditure
(iv) | Consumption of Fixed Capital 70
(v) Household Final Consumption Expenditure 640
(vi) Inventory Investment (Net) (-) 80
(vii) | Imports 90
(viii) | Net Indirect Taxes 60
(ix) | Net Factor Income from Abroad 50
OR

(b) (@) Elaborate the concept of Externalities with the help of
suitable example.

(ii)  Define Operating Surplus. 1
13. (a) “In an economy, ex-ante Aggregate Supply is more than ex-ante
Aggregate Demand.”
Explain its impact on the level of output, income and employment. 4
OR
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(@) fmfciRaa arferert @l g0 HINT | 3T 6 T 200 HUS o T T STHM
%o 1 fmtor fifsre |
377 (Y) FaT sflaa IgT T aed
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14. Tk 8 S 2023 % T SHHITS IS § 3I¢Yd MHTAIRGd & 1 LAHISH
AT SHINT
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6-5% W IUNafdd W & vl fomm 2 | wfwfa 3 gamem @it Aifa
(Accommodating Monetary Policy) &l IIE A W IH higd A & AU
e fram g 17
few U T 9 g gvE & emuR W fAmfarfad e % SR i
(%) I9IH T H AT T T G i TG T == T |
(@) afe g frgior gfufa 9 3w g | A &1 g, @ gg1 gl < gwfed
gftorai <t ==t Hifsre |
15. f=fefaa et st 9y ael gra o <hifsre
(%) forelt srefeawen ®, HgT Hod o HEW o €9 H ¥ HLdl 7 |
(@) ST §% Tk deTawq § THR & §h o T4 H I Tl 2 |
16. (%) T fg-&e uisa U ™ & =Ehi Ya1g i GUNON 6 G&T H S
HIT |
(@) “Hifgh "ol TS 3G (GDP) i T H ddiash dehal =T 3cd1G
(GDP) Tereft Tsg 3hT 3TTiefeh Hgfg T SgaX Hehash & |7
FI7 39 feU T HYH ¥ HgAd 7 2 fREHl Q9 weue geaTcHe 3eTEtl
% 1Y U IT HI gfee Hifre |
17. (%) TmfaRed 1 Tsea wiitadi ste@n Ysiema wiieaat # srfiha shife | 31aq
S & 9F § IY doh GINT
(1) ZRUT YT YT o197 |
(i) el werlt et <t fosht @ faftesr wfeeat |
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(b)  Complete the following table. Construct/Express the Consumption

function at ¥ 200 crore level of income.

2

Income (Y) Savings Average Propensity | Marginal Propensity
(in <crore) | (in Tcrore) | to Consume (APC) to Save (MPS)
0 (=) 30 — —
100 | ...l )
200 | .l 08 |
300 | ...l 08 |
14. Read the following text carefully from ‘The Economic Times’ dated
8th June, 2023 :
“The Reserve Bank of India’s (RBI’s) rate setting panel unanimously
decided to keep the benchmark lending rate unchanged at 6:5%. The
committee voted to remain focused on the withdrawal of accommodating
monetary policy.”
On the basis of given text and common understanding, answer the
following questions :
(a) Identify and discuss the economic issue indicated in the above text.
(b)  Discuss the likely consequence on money supply if the rate setting
panel would have decreased the said rate.
15. Justify the following statements with valid arguments :
(a)  Money serves as a ‘store of value’ in an economy.
(b)  The Central Bank acts as ‘Government’s Bank’ in an economy.
16. (a) Discuss briefly the concept of circular flow of income in a two-sector
model.
(b)  “Real Gross Domestic Product (GDP) is a better indicator of
economic growth of a nation as compared to the Nominal Gross
Domestic Product (GDP).”
Do you agree with the given statement ? Justify your answer with
a valid hypothetical numerical example.
17. (a) Classify the following as Revenue receipts or Capital receipts. Give
valid arguments in support of your answer :
(i) Interest received on loan.
(ii)) Disinvestment receipts from the sale of a government company. 2
11-58/1/3 Page 11
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(i) 9Ra § STforel e ol Ticdiigd i o ot 9 U9 i
(USA) 9GhR g & 718 foxita wgmmar | 2
AT
@) () = T W AR H1 AHgE® JERA hiT IR FHfAREad W
TehH) 3T H FedAd SSHEl b1 fogasur HifSu

O  wed fawE 2
(1)  urior faeerg 2
= Al P <hl
=99 i 9@ Hal i T (& e )
(@) () o a9 wafies '’ % " T Tse HIT | 2

Fie: HERTRIT 97 Hac gieanaa qaeferr & g 397 G877 17 @(i) & w7 ®
g/
TNl 99 o R R 6l =R hif | 4

ECLCEC)
TR 3Tfefer forerma

18. 1970 o T H, UIfehtd™ o 3194 ST ST Usdiarehtor foparm o |
(Teh T =61 A & fore gt faerew 1 =9w Fifs) 1
(A) Taferean snuTies Ti=qT Gaddt
(B)  3UHIH I&qaTi Gaielt
(C) YSfira awgsti geet
(D) faesh =R
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(iii) Financial assistance by the Government of USA for promoting

girl education in India. 2
OR

(b) (@) Study the following chart carefully and analyse the changing
trends in the government expenditure on :

(D Urban Development 2
(I)  Rural Development 2
TREND OF MAJOR ITEMS OF EXPENDITURE
(¥ lakh crore)
(b) (i)  Distinguish between ‘Fiscal deficit’ and ‘Primary deficit’. 2
Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 17 b(i).

Explain the stabilisation function of the Government Budget. 4

SECTION B
Indian Economic Development

18. In the decade of the 1970s, Pakistan nationalized its industries.
(Choose the correct alternative to fill in the blank) 1
(A) Medical infrastructure
(B) Consumer goods
(C)  Capital goods
(D)  Foreign trade

11-58/1/3 Page 13 P.T.O.



19.

20.

21.

frafTaa el 1 SAHYdesh LA HINT

FY7 1 : NGRS I & Aqd, UNS T=AT (I8 Tdd, S 9 R
a7ife) 1 foepra femam T o |

FIT2 : WA H ATk TEET o TIhE o ND i 3ewd fofew f&at =
HgE T o |

feu U el % I H, Hfaiad # 8 w@l ooy w1 we hifvT

(A) HIYT 19T 3 N HAT 2 36 B |

(B) S 13T E AN FH 2T |

(C) YT 13 2gH acF B |

(D) YT 1R 2 gHI A 2 |

qgaH hifeg fob Felcifgd § & siF-|1 fasheq, iy fauom yomelt & @
(A) IS, TSTUT, TEEHIT, YehiorT

(B)  3cqTed, GaIoH, JEEehtr, Ifen

(C) TIASH, JTHERT, YehfonT, TiEs

(D) &R, Yehfort, UfeT, faawor

frfefaa et o1 9feu - 3Tfiyshem (A) 3R &RU (R) | = feu 7o fomredt
37T (A) : fava =AUR e (WTO) | I8 et sl St 8 fh a8 oe

TSI R &MY T TehalWhl 9T A0 Ufdeen & 5=+ & foie
frm_snaTia smaTfies saaeen Teonfug =t |

PRU(R) :  TAEO WAV % @ig-@ny, fova Ieured § gfg w9 Afvaw
THIYHT T g5ead 3T gHfvea e Afem 7 |

IEETR' I

(A) 3R (A) 3R FHROT (R) gHT T § M HRUN (R), AUHH (A) i
TE AT 2 |

(B) 3o (A) 3R ST (R) SHT T B, WAfehd RUT (R), AMHH (A) I
TE! ST TE7 8 |

(C) IR (A) FF 7, Wlhd SR (R) I8 3 |

(D) AR (A) TEH 7, ok RO (R) T B |
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19.

20.

21.

11-58/1/3 Page 15 P.T.O.

Read the following statements carefully :

Statement 1 : Under the colonial rule, basic infrastructure (like
railways, post and telegraph etc.) was developed.

Statement 2 : The real motive behind the infrastructural development
in India was to strengthen the British interests.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Identify which of the following alternatives indicate the incorrect
components combination of Agriculture Marketing System :

(A)  Assembling, Storage, Processing, Packaging
(B)  Production, Assembling, Processing, Grading
(C)  Assembling, Processing, Packaging, Transportation

(D)  Processing, Packaging, Grading, Distribution

Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : World Trade Organization (WTO) is expected to establish
the rule-based trading regime, to avoid unilaterally placed
arbitrary restrictions by member nations.

Reason (R): It is imperative to enlarge world production and ensure
optimum utilization of world resources along with
environmental protection.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.



22. fTr=fafea st =1 ufen - s1firped (A) 3 R0 (R) | = feu 7o foereat |
T Tg fasew giw 1

SYHIT (A) : = 4 A9 AR & fu rfafs amifses 9 aTfde e
39d L o T SR 9 1 39T fopam @ |

FR(R) : TR ¢RI GRS |=-T o gt 9 <1 8 4«
fIehTE Gehdenl § Heh[IcHeh giony feu 3 |

ICETR IR

(A)  AMHAT (A) I SR (R) I T & 3 SR (R), AR (A) hi
g 1T 7 |

(B) 3T (A) 3T HRUT (R) THT HcH 8, Afehd 0T (R), JNRAT (A) h
g e g7 B |

(C) 3R (A) TT 7, Wohd ST (R) 79T 7 |

(D) AMHAT (A) TEH 7, Wik RO (R) T 7 |

23. TfaRaad fashedl # 9, fafafa SN 99R & @ W 6l 9ga9H HiT ;1

(i) I HI b 3G T FaaH oI feaa & e fauom yoredt i
I I YA ST |

(i) PuhI o I fouum =T e § gUR i gdicdTed e |
(iii) PRl T ITOT TehT |
(iv) PWehi ol 3ITeh! ITS hl TUET F AT § IR A % 0 garcansd

HET |

farehe

A) () AR (i) B) () AR (ii)
(C) (i) 3R (iv) (D) (i) 3R @{v)
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22. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below : 1

Assertion (A) : China has used the market mechanism to create
additional social and economic opportunities for its
citizens.

Reason (R):  Social infrastructure creation by the government has
brought positive results in human development indicators
in China.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

23. Identify from the following alternatives the imcorrect objectives of
regulated agriculture market : 1

(1) To make the marketing system efficient and effective for farmers
to get best price of their products.

(i1)) To discourage improvement of marketing infrastructure for

farmers.
(iii) To prevent exploitation of farmers.

(iv) To discourage farmers from improving quality and quantity of
their produce.

Alternatives :
(A) (1) and (ii) (B) () and (iii)
(C) (1i11) and (v) (D) (i1) and (iv)
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24, YRd J UIhEdE H SHA: E| aul H Il AR AL

fepg T 9 |

(f=h Tl &l W o fotw Tt faehew o1 =@ Fifoe)
(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991

25. TARIREd el 1 LAY FEIAT hINT

Fo7 1 : UK Ffdesl THeqor ST (NSSO) T SUSTH! bl 30 YohR aiefa
forar 2 T o8 9% st 2, o =afF om & 1@ & SR fomr
HW &% @ Id 8 bt 9 guifea et @ &1 i o = @
8 | 9 ®M IR urifyes &t A feufai & dgd M s 6
$TB1 /TS S<h Hid & |

FYT2 : ARG S0 AITh G Tl TS T I=05d ISR AR T !
qHE 7 |

feu U seFl % AT H, efaiad § 9 9&l faeheq 1 ==A hifve -

(A) HAH 19T g 3N HAT 2 30A 7 |

(B) WY 1378 g N FH 2T 7 |

(C) o 13N 2TH TA 2 |

(D) %I 1 3R 2 AT 3 7 |

26. UgaH hifve foh fafafaa o & SH-91 G-20 1 957 T 757 2 :

(A) SIS
(B) 3Tt
(C) STARm
(D) 3T
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24.

25.

26.

11-58/1/3 Page 19 P.T.O.

Economic reforms were introduced in India and Pakistan in the years

and , respectively.
(Choose the correct alternative to fill in the blanks)
(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991

Read the following statements carefully :

Statement 1 : As per the National Sample Survey Organization (NSSO),
unemployment is a situation in which all those who,
owing to lack of work, are not working, but are seeking
work from prospective employers. They express their
willingness/availability to work wunder the prevailing

conditions of work and remuneration.
Statement 2 : Disguised Unemployment is generally a massive problem
in a highly populated country like India.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.
(B)  Statement 1 is false and Statement 2 is true.
(C)  Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

Identify which of the following is not a member nation of G20 :
(A) Brazil

(B) Australia

(C) Bangladesh

(D)  Argentina

1



27.

28.

29.

30.

frafafga wei = ufeu - firpem (A) 3R &R (R) | = fou o faspedt

ﬁgﬁﬁﬁqﬂﬁ@

STYHYT (A) : T AREH T o A I =ma 4 $5 it BAl i
gieregeff g9 & Teh e o |

HRU(R) : TSt & 3 3cq1g ural TR TS Tiaeaeichend] § FER h
ST AT8E UTed i | &<l U Sl i off |

%qu :

(A) AHAT (A) 3 SR (R) ST TcF & 3 SR (R), 0HA (A) HI
TE AT 7 |

(B) 3T (A) 3T RUT (R) HT T 8, dfehd U1 (R), AMMHAT (A) h
&l ST 7ET 3 |

(C) AMMHAT (A) I B, Afhd R (R) 3T B |

(D) 3R (A) 3T 8, Afehd RO (R) HF 2 |

“ara ®, Ted fre fifa 2020 7 et & Aarerrelia g W srAiys O
ﬁa.l.%l”
(i) 39 ®eF H 3FE AHa S i (HCF) & @i hl 98= i |

(i) YRd & 271ffeh foepm W 3@ G o GvTfad Iumet <! foar 8 =amen
I |

(%) “ofafafees o o SR Y & § feoran (fadan) <@t T8 off |7
F7 39 U U HYH § TEHT & ? 9Y dehl gl A9 SR 1 iy fag
it |

AASAT

(@) 3 Hrl o foear @ sary e wro et a3« eiwifies Hifa
Hehed, 1956 o d&d fa=aHd feram =T o |

(%) 9Rd & g &= ° gen-awg (srfaerg-are) yadn & fohedl g el
3eei@ HIT |
(@) “Gaum feufa #, 9Ra <9 U § @ g I B H g SR
Tl e FTd 7 17
feu ¢ sem w1 sifue fag i |
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27. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : The excessive regulation of permit license raj prevented

certain private firms from becoming fairly competitive.

Reason (R):  Private sector wasted huge amounts in obtaining licenses

rather than on improving the product quality and
international competitiveness.

Alternatives :

(A)

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
28. “In India, National Education Policy 2020 has stressed a lot on in-service

training of the teachers.”

@)

(i1)

29. (a)
(b)
30. (a)
(b)
11-58/1/3

Identify the source of Human Capital Formation (HCF) indicated
in the aforesaid statement.

Elaborate the likely impacts of this source on the economic
development of India.

“During the colonial period the agricultural sector showed massive
stagnation.”

Do you agree with the given statement ? Justify your answer with
valid arguments.

OR

Elaborate the reasons owing to which the private sector was
regulated under the Industrial Policy Resolution, 1956.

State any two advantages of micro-credit system in rural areas of
India.

“In the current situation, Information Technology plays a vital role
in achieving food security in a nation like India.”

Justify the given statement.
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32. (&)
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“Gh TS % TS @ THTRIes WAl W faumr 9 Ag Goha foan 3 T
A 3T 2023 & HE § H bl 10 g, fovd <1 g9 3o

STEEAT T TS o TR 8 |7

=9 g 1970 < Tk | IYATS TS Ueshod-STcAeh AId o JROMHT hl I
i |

= 61 T Hafg W foRIv 31idfe & (SEZ) % JWmEl shi == Y |

Y dohl g Iei@ o FNEAT hifou for fAmaferfaa s gry 8 a1 srae

(i) B U, YRd SR A foxfie gemeH & $Iean AT % o
SH-GF JISHT 91 s Hgw@ul el 391 7 |

(i)  =ftes — SaEn Igda foreft g ® Teme s feafa v farwermon
w0 & fIu 3T foram S 91T Uk Gehdes ©

HAASAT

(i) ¥Rd °§ A e = geanf@d w@ Fl AEIhdT hl SR

ity |

(i) IR vEER Iamn | fafadie afafafm & feal 3 e
1 Ioid ST |
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31. (a)

(b)

32. (a)

(b)

11-58/1/3

“United Nations Department of Economic and Social Affairs
indicated that India has overtaken China as the world’s most
populous country in the month of April 2023.”

Explain the consequences of one-child policy adopted by China in
the 1970s. 2

Discuss the impacts of Special Economic Zones (SEZs) on the

economic growth of China. 2

State and elaborate whether the following statements are ¢rue or

false, with valid arguments :

(i) In the recent past, the Government of India has taken
crucial steps, like Jan-Dhan Yojana, for efficient allocation

of financial resources. 2

(ii))  Worker — population ratio is an indicator, used for analyzing

the employment situation in a nation. 2
OR
(1) Elaborate the need to promote women’s education in India. 3

(ii))  Mention any two examples of diversification activities in the

non-agro processing industries. 1
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33.

34.

(F) () “URT TR R 33T MY IgRIHWT IR o 3aqd, AR d
fraw fifd gar 1 ggwget of 1”7
AT dehl g1 feU T o o1 e 319E "He iy |
(i) “gia sifd & &g W 1990 % < & WRA hl 65 Ffawa
SHEEAT Y &=k | o @17
Iy Tepl g feu MU e w1 Sfifeed fag dhifve |

HAYAT
(@) () “ Fh % ¢ I8 8d & — PN IUgH W gd o} A1 & Th
3ehee 3TE 3 |7
HY I9EH TR W & 94 9 fauer # g1 Ioi afzd G U HeA
1 gfee Ao |
(i) WRA 3Tk ASHT % 3L % &9 H “GHAT % A TG h
HE Wl Ic01@ hIVT |

frefeifad ma 1 SHyEs AeRE HINT

WRd W 91y 991 9 Ul <Al @ THE Wi st | fued % fog
TEHR 4 1974 H el Tg¥U (=01 1€ (CPCB) sl ST i | 36 918, TSy
TR R gt gl faaret & fiued & fou o= 3 srvA-31 aiE a9 | 3
&1 (CPCB) 9dl, a1 3N W YgWUl ¥ Hefed 13Tl sl Gehod S forawon
A 8 | 3 F /AR FepmE 3 IcasH o A HUiid id 8 | T 98 TWhi
1 I TGO o Ueha™, A0 3 wift o foiu Srar-amaeti gry Afeat 31k i
HI Wedl & TaYd b I qehieh! TERAT IS L & | 3Th S ag i
ToreRTT H gUR HT R | A G H 9 YGNU o (R0 g W W Rl kTR

< o
AT Y hid B |

4 9IS A F Iy TG § HeUd RN hl A= g FgHIH w2
3R Ut S99 AHEY S YRR Hd 3 | 9k T 9 9 HER % miew |
S SITTEehdl HRIshH Tied #id & | PCB %=k 9 gy 31afimel o fuem
3N IT=R & wafda femmeeft, dfgar it anfesie g dumr #t 8 |
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33.

34.
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(a) (1) “Under the liberalisation measures taken by the Government
of India, Trade and Investment Policy reforms were extremely
crucial.”

Reject or support the given statement with valid arguments.

(i1))  “Despite the implementation of Green Revolution, 65 per cent
of India’s population continued to be engaged in the
agriculture sector till the 1990s.”

Justify the given statement with valid explanation.
OR

(b) (1) “Every coin has two sides — debate over farm subsidies is one
such classic example of the same.”
Justify the given statement with two arguments each in
favour of and against the continuation of the farm subsidies.

(i1)  State the importance of “Growth with equity” as the objective
of Indian economic planning.

Read the following text carefully :

In order to address two major environmental concerns in India, viz.
water and air pollution, the government set up the Central Pollution
Control Board (CPCB) in 1974. This was followed by states establishing
their own state level boards to address all the environmental concerns.
They investigate, collect and disseminate information relating to water,
air and land pollution, lay down standards for sewage/trade effluent and
emissions. These boards provide technical assistance to governments in
promoting cleanliness of streams and wells by prevention, control and
abatement of water pollution, and improve the quality of air and to
prevent, control or abate air pollution in the country.

These boards also carry out and sponsor investigation and research
relating to problems of water and air pollution and for their prevention,
control or abatement. They organize, through mass media, a
comprehensive mass awareness programme for the same. The PCBs
prepare manuals, codes and guidelines relating to treatment and disposal
of sewage and trade effluents.



N o A=A gR1 d 919 TUET 1 Jodlehd Hid & | Jad H 39
e Tat iy & mem @ TSy 9 o &FiYeR # oM ate Y
Jan &1 TE-ang W e, fem o e IEsH g 3ucisy 3UR Shi
Tt 1 faecior S < T Rt 8 | 98 ST fyRer 3§ TR HESE %
foQ aTravaesh gsayfi qun 9Ty TUrEE SAfehe Wi YEH T B |

TGWUl A SIS S WWUl H HefUd debeilehl 3T WIfEdhl 3AThSI I
Gehetd, GUTeH 3R foaawor e § | 3 125 it (sad 3wt oft i g), 34,
e, @rEt, e, e, AT 3R T80 B el I ure hl SElE Hd 8 |

few U T 9 W FE % SR W AEfaiad TeEt % I A

(%) & gl @ qgi 1 Ieorg HIfY s RO g wgwer fRmw o

(CPCB) 1 T=1 &1 78 off |

(@) s Yguu frEw 9 (CPCB) g b M ot fopedl @ sl h
T HIT |

()  9Rd grn grefiy foem gifeaa e & faw s w8 fohegi g1 woritfem
%1 JUH HIFT |
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They assess the air quality through regulation of industries. In fact,
state boards, through their district level officials, periodically inspect
every industry under their jurisdiction to assess the adequacy of
treatment measures provided to treat the effluent and gaseous emissions.
It also provides background air quality data needed for industrial siting

and town planning.

The pollution control boards collect, collate and disseminate
technical and statistical data relating to water pollution. They monitor
the quality of water in 125 rivers (including the tributaries), wells, lakes,
creeks, ponds, tanks, drains and canals.

On the basis of the given text and common understanding, answer the
following questions :

(a) State any two concerns owing to which the Central Pollution
Control Board (CPCB) was established.

(b) Explain any two functions performed by the Central Pollution
Control Board (CPCB).

(c)  Elaborate any two strategies to ensure sustainable development as

adopted by India.
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